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18650/2020- 19-24
25 4/9/2020 R ARk kK A1 -TENIKOZ IATPOZ 2n YME - KYT AEZBOY 5n YME 7,10 60 6 fvec Aplotn 2 781,00 420 24 100 0 0 0 70 100 0 0 0 0 1495,00 1 2n YME - KYT AEZBOY
MAV
18881/2020- Al - IATPOZ ME AAAH 19-24
52 7/9/2020 HA ARk EIAIKOTHTA 2n YME - KYT AEZBOY 5,00 6 wAveC 550,00 42 24 100 0 0 0 716,00 2 2n YME - KYT AE2ZBOY
18468/2020- Al -IATPOZ ANEY
18 2/9/2020 HA ARk ko EIAIKOTHTAS 2n YME - KYT AEZBOY 7,72 6 ‘oxi1 849,20 42 24 0 0 0 0 915,20 3 2n YME - KYT AEZBOY
18680/2020- Al -1ATPOZ ANEY
30 4/9/2020 ARk ko EIAIKOTHTAS 2n YME - KYT AEZBOY 6,50 0 [0).(! NAI 715,00 0 0 0 0 0 50 765,00 4 2n YME - KYT AEZBOY
18063/2020- Al -IATPOZ ANEY
7 27/08//2020 HA ARk ok ok EIAIKOTHTAS 2n YME - KYT AEZBOY 2n YME - KYT ZAMOY 5,97 0 [0).(! Aplotn 656,70 0 0 0 70 0 0 726,70 5 2n YME - KYT AEZBOY
18963/2020- Al - IATPOZ ME AAAH 1-12
48 8/9/2020 ARk ok ok EIAIKOTHTA 2n YME - KYT ZAMOY 5,00 16 wiveg Aplotn 550,00 112 24 300 70 0 0 1056,00 1 2n YME - KYT ZAMOY
18133/2020- Al -IATPOZ ANEY . .
8 28/8//2020 ARk ok ok ok EIAIKOTHTAS 2n YME - KYT ZAMOY 5,00 5 (0)(] Aplotn 550,00 35 20 0 70 50 0 725,00 2 2n YME - KYT ZAMOY
18880/2020- 1-12 .
53 7/9/2020 HEFE XA XA AR KK Al -TENIKOZ IATPOZ 2n YME - KYT XIOY 2n YME - KYT ZAMOY 5,98 2 wivec Aplotn 657,80 14 8 300 70 0 0 1049,80 1 2n YME - KYT XIOY
18469/2020- Al -IATPOZ ANEY 19-24 )
19 2/9/2020 ARk ok ok ok EIAIKOTHTAS 5n YMNE 2n YME - KYT XIOY 6,63 26 pivec Aplotn 729,30 182 104 100 70 0 0 1185,30 2 2n YME - KYT XIOY
18456/2020- Al -IATPOZ ANEY , ,
11 2/9/2020 HEFE KA KA KA A K EIAIKOTHTAS 2n YME - KYT XIOY 2n YME - KYT AE2BOY 8,34 0 (0){} KaAn 917,40 0 0 0 30 0 0 947,40 3 2n YME - KYT XIOY
18417/2020- Al - IATPOZ ANEY ; )
22 2/ /g 020 KA AK KKK CIAKOTHTAS 6n YME 2nYMNE-KYTXIOY | 500 | 0 OXI Aplotn 550,00 | © 0 0 70 0 0 620,00 a 2n YME - KYT XIOY




